AQA Foundation Paper 3 Practice Questions
Q1.

(a) Simplify 3f x 5¢g

(b) Simplify ¢ x ¢

20+ 68

(c) Simplify 2 % 1

(Total for question = 3 marks)

Q2.

(a) Simplify 50-3p+p

(b) Simplity m*+m? EN
2 m

(c) Simplify 10+3c+5d-7c+d

~ (Total for question = 4 marks)



Q3.

Batteries are sold in packets and in boxes.

There are 4 batteries in a packet.
There are 20 batteries in a box.

Derek buys one box of batteries.
He takes t batteries out of the box.

(a) Write down an expression, in terms of £, for the number of batteries left in the box.

' Sameena buys x packets of batteries and y boxes of batteries.

(b) Write down an expression, in terms of x and y, for the total number of batteries Sameena buys.

(Total for question = 3 marks)



Q4.

(a) Expand and simplify (5x + 2)(2x — 3)

1 [ -
~ 2
\O=x -1l x-¢€

(b) Factorise x? + 4x + 3

(Total for question = 4 marks)

Q5.

(@) Factorise 3x+6

(b) Expand and simplify 5(y—2) +2(y — 3)

g'\S“lO —\-7«3'-6

(Total for Question is 3 marks)



Q6.

(a) Factorise 5-10m

(b) Factorise fully 2a%b + Bab?

Q7.

A is the point with coordinates 5,9
B is the point with coordinates (d, 15)

The gradient of the line AB is 3

Work out the value of d.

(Total for question = 3 marks)

\(3
S d, %)

(Total for question =3 marks)



Q8.

X
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(a) Write down the coordinates of point C.

ABCD is a square.

(b) On the grid, mark with a cross (X) the point D so that ABCD is a square.

(c) Write down the coordinates of the midpoint of the line segment BC.

(Total for question is 3 marks)



Q9.

Anna drives 45 miles from her home to a meeting.
Here is the travel graph for Anna's journey to the meeting.
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Anna's meeting lasts for 1 hour. )
She then drives home at a steady speed of 30 miles per hour with no stops.

Complete the travel graph to show this information.
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(Total for Question is 2 marks)



Q10.

(a) Complete the table of values for y = xX2—-x-6

X -3 - -1 g 1 - 3

s O kg -6 -4 O

(b) On the grid, draw the graph of y = x* — x — 6 for values of x from -3 to 3
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(Total for question = 6 marks)



Q1.

Here are the first six terms of a Fibonacci sequence.
1 1 2 3 5 g % LI B
The rule to continue a Fibonacci seque\nce is,
the next term in the sequence is thg sum of the two previous terms.

(a) Find the 9th term of this sequence.

The first three terms of a different Fibonacci sequence are
a b a + b arldb 2o > b

(b) Show that the 6th term of this sequence is 3a + 5b

2o +Hb

Given that the 3rd term is 7 and the 6th term is 29,
(c) find the value of a and the value of b.
-Gy =3
2oy Bh = 1| | 5

C~% =2 (Total for question = 6 marks)



Q12.

Robert and his family are going on holiday to France.

A bank gives Robert this chart to help him to change between péunds (£) and euros (€).

pounds {¥) euros ()
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B} 260

Robert changes £600 into euros (€).

(a) How many euros should Robert get? 3 .
‘20 ¥ &

In France, a laptop costs €540
in England, the same laptop costs £460

(b) Work out the difference between the cost of the laptop in France and the cost of the laptop in England.
You must show clearly how you got your answer.

B Leox\ LZ£BB)
CosSkA E/\?\w\()\ jul €€62
2672 — 54O = £ (2 evwos diFfeec

(Total for Question is 5 marks)



Q13.

A cooker costs £650 plus 20% VAT.

(a) Calculate the total cost of the cooker.

6£50 w11 =

A washing machine has a price of £260
In a sale its price is reduced by £39

(b) Write the reduction as a percentage of the price.

27 o

3 kitchen chairs cost a total of £44.79

(c) Work out the total cost of 8 of these chairs.
\ Che = | L5
g clhhcats = C@‘l\“—‘("a\%

(Total for Question is 7 marks)



Q14.
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Lethna worked out

She wrote:

2 2 l 3
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The answer of 1{! is wrong.

(a) Describe one mistake that Lethna made.
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Dave worked out 2

He wrote:
| | |
1 =X and — A — T —
2 3 6
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The answer of 0 is wrong.

(b) Describe one mistake that Dave made.

(Total for question is 2 marks)



Q15.
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Frani invests £2500 for 2 years at "2 " per annum compound interest.

Work out the value of his investment at the end of 2 years.

| 2.

2636 O6
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(Total for question = 3 marks)

Q16.

Harry invests £5000 for 3 years.
He gets simple interest of 4% per year.

Work out the total interest Harry gets.
4 oo f Hoco = Flod
Ly L0 = L6 OO

(Total for question = 3 marks)



Q17.

Here are four numbers.

Y

3 . -
0,43 — 45.8% —_
16

Write these numbers in order of size.
Start with the smallest number.

2,5 F oW F.. = k2%
31—l = OW 55 = Ly

W
R,

(Total for question = 2 marks)

Q18.
Jenny is asked to find the value of L2—2a4
Here is her working. Lemo o d=Elhad=d

Jenny's answer is wrong.

(a) Explain what Jenny has done wrong.

Rehan is asked to find the range of the numbers B i_ < B
Here is his working. Rangz=7-3=_

This is wrong.

(b) Explain why.

o hesB osed e b ores end

(Total for question = 2 marks)



Q19.

(a) Write 168 as a product of its prime factors.
You must show your working.
6%

(Total for question = 5 marks)



Q20.

Emily buys a pack of 12 bottles of water.
The pack costs £5.64

Emily sells all 12 bottles for 50p each. — l?.. X @ ) 6 - ):6

Work out Emily's percentage profit.
Give your answer correct to 1 decimal place.

-
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Q21.

Anil wants to invest £25000 for 3 years in a bank.
Personal Bank
Compound Inter2st

2% for each vear

G- 564 =036

@ﬁéé
Kbk

< (08 | s JRZF8H 3

(Total for question = 3 marks)

Secure Bank

Compound Interas:

4 3% Zor the fizer vear

00995 for 2ach 2xura vaa

Which bank will give Anil the most interest at the end of 3 years?

You must show all your working.

06000 | 0L
— Ll H30-0

25000 % | 43 xiooq™

(Total for question = 3 marks)



Q22.

(a) Write 7357 correct to 3 significant figures.

I NIT+ 4
by Work cut

Write down all the figures on your calculator display.

(Total for question = 3 marks)



Q23.
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ABCDE is a regular pentagon.‘
BCF and EDF are straight lines.

Work out the size of angle CFD.
You must show how you get your answer.
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(Total for question = 3 marks)




Q24.
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ABCD is a parallelogram.

Angle ADB = 38°.
Angle BEC = 41°.
Angle DAB = 120°.

Calculate the size of angle x.
You must give reasons for your answer.
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(Total for Question is 4 marks)



Q2s.

On the grid, draw an enlargement of the shape with a scale factor of 2

(Total for question = 2 marks)



Q26.

Here are eight shapes drawn on a grid of centimetre squares.
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Two of these shapes are congruent.

(@) Write down the letters of these two shapes.

Shape H is an enlargement of one of the other shapes.

(b) Which shape?

(Total for question = 2 marks)



Q27.

R

-3 ) 2 [eFy

(a) On the grid above, translate shape A by the vector S \ 0)‘0"” ~
Y4
5
4
L]
1

T35 o0 1 T T =
-1

(b) Describe fully the single transformation that maps shape B onto shape C.

Q\@ké&t@\ qc. enf. ok s,

(Total for question =5 marké)




Q28.

A gold bar has a mass of 12.5 kg.
The density of gold is 19.3 g/cm?

Work out the volume of the gold bar.
Give your answer correct to 3 significant figures.

(2 5k = '\25603
1L 5CO a2 = pa3 668 FB9

(Total for question = 3 marks)

Q29.

Last year the cost of g Season ticket for a football club was £560
This year the cost of a Season ticket for the club has been increased to £600

Write down the increase in the cost of a season ticket as a fraction of last year's cost.

[ACCeese =FLo

A0

560

(Total for question = 2 marks)



Q30.

Susan has a round cake.
“The cake has a diameter of 20 cm.

Dragram NOT
aceurately drawn
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Susan wants to put a ribbon round the cake.
What is the least length of ribbon she can use?
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(Total for Question is 3 marks)



Q31.

Here is a triangular prism.

Taom

Work out the volume of the prism.
Give your answer correct to 3 significant figures.

k" =32 = b
b= & *2
b - O VLEEL 15D [\

Ve of *}(TG’*F‘,}AL = 5 + 2 17
= \5«5#5qﬁﬁ

Velome = cteow % [engih= ;%89“%*53

(Total for question = 5 marks)



Q32.

The diagram shows a container used to store oil.
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The container is in the shape of a cylinder of radius 40 cm.
The height of the oil in the container is 90 cm.

65 litres of oil are taken from the container.
1 litre = 1000 cm3.

Work out the new height of the oil in the container.
Give your answer correct to one decimal place.

Steding veline = TTxuot x o = BB WY
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(Total for Question is 4 marks)




Q33.

The two-way table gives some information about the drinks sold by a cafe on a Saturday and on a

Sunday.
Tea Coffee Squash Total
Saturday 45 5% 37 140 _
Sunday 47 =) L 5
Total \0 5 87 299

(a) Work out the total number of drinks sold on Sunday.

Soadheu COIOS = @} IF=Ho
§u\(§(w> tobed = 299 - (w0 I £

(b) Work out the total number of coffees sold on Saturday and Sunday.

%@}ufc)@ﬂ Coefee = 4e~33 -LS—hH§
Tebad cosfee = AE t4+ = (€5

Rob and Mari each buy a drink at the cafe.
The cafe only sells tea, coffee and squash.

(c) Write down all the possible combinations they can choose.

________ TC , TS, T

(Total for Questionis 5 marké)



Q34.

Mr Kent's students did a maths test and a science test.
The scatter graph shows the marks of 12 of these students.
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The table shows the marks of two more students.

20

Name maths science
Masood 12 14
Nimer 17 20

(a) Show this information on the scatter graph.

David did the maths test.
He was absent for the science test.

David's mark in the maths test was 15

(c) Estimate a science mark for David. \/.\— - L\ or \ 7.

(Total for Question is 4 marks)




Q35.

The incomplete pictogram shows information about th
Wednesday and on Thursday.

Tuesday %
*fs.’edﬁesdaj: %% % @
Thursday % %

Fridav

€ number of cycles sold in a shop on Tuesday, on

Saturday

A total of 20 cycles were sold on Tuesday, Wednesday and Thursday.

8 cycles were sold on Friday. — 2 %d es
15 cycles were sold on Saturday. 2 Cocles & 32

L{
Use this information to complete the pictogram.

5 cokels - 0.0 .&s——cjc\es
1 el = b C/UUZS

(Total for question = 3 marks)




Q36.

A group of Year 10 students was asked to choose a new subject to study.

The table shows information about the choices.

Subject Number of students A ne Lo
construction 40 =5 120
hairdressing 56 > £
tourism - 24 R g 32
- "C‘ 1 T ==
(a) Draw an a&‘éﬁrate pie chart to show this informétion. w3 > 00

A group of Year 11 students was also asked to choose a new subject to study.

This pie chart shows information about their choices.




Lourism

construction

hatrdressing

Danny says

"The pie charts show that hairdressing was chosen by more Year 11 students than by Year 10
students.”

(Total for Question is 4 marks)



Q37.

Steve went on holiday.
He recorded the number of photos he took each day.

Here are his results.

20 14 21 19 27 31 19

(a) Find the mode.

(b) Work out the mean.

+‘€) \'@J\ 2\ 5 ' o
(O ac nbers 2\6 -0

Steve saves his photos on a memory card.

The memory card has 1000 megabytes of memory space.
Each photo uses 2.4 megabytes of memory space.

Steve has saved 320 photos on the memory card.

(c) Work out how many more photos Steve can save on the memory card.

B30 prchos w2k Mhe F369 Mb s«

(oco M = 3L My =
222 My =2k

252 Mb lest.

C{Cé

(Total for question = 6 marks)



Q38.

Here are the ages, in years, of children at a party.

6 8 - 6 4 5 5 6 7. 4 6

(a) Work out the mean. f’@‘!‘ OQ - 6"4,
O chadre A

At the party the children were given some sausages to eat.

The table shows information about the numbers of sausages the children ate.

Number of

sausages T ) 2 3 4 5

Number of
children 3 1 4 0 2

- O LC

(b) Work out the total numbér of sausages {%rchildren ate.
32y - +OFIO

e et sausages

(Total for Question is 4 marks)



